WENGRTT | REOES | RPDEGR | REVESE | EEEN | BEIR| #FH TR
A237 | 80lzz= | EET710 12 Iz IEEARET/)N 5 ZEOWT 7
A001 01%= | &0l 1 IR BN 8 2207 2z
A019 | 90l#z= | E&701 19 T AHERR )N 6 HORE 7
A018 | 901z | E&701 18 123 LLIER /)N 4 EIO)=: 5
A081 003%= | K703 25 T TL A 22BN 6 FROZE 7
A020 01%= | &0l 20 YLK BB/ 2 ZOFF =
A075 | 903z= | EE703 19 ERVATZETEN 8 FEOF b
A076 | 903z= | EE703 20 ERVATZETEN 8 BHOE b
A077 903%= | K703 21 VA NIEAN 8 BHOZ %
A078 | 903z= | EE703 22 ERVATZETEN 8 BORE 7
A079 | 903z= | EE703 23 ERVATZETEN 9 E0)=: b
A0S0 | 903zz= | EE703 24 ERVATZETEN 9 RO b
A004 01x= | EEI01 4 IR E]/)N 1 CAQLE 5
A005 01x= | EEI01 5 IR E]/)N 1 EROIES 2z
A006 | 901z= | HE&701 6 [ERYA: V=N 2 HO %
A007 01z | 701 7 TH YL/ 2 FOFH %
A008 | 901z= | 701 8 [ERYA: V=N 2 [EOFH 7
A009 | 901z= | EET01 9 [ERYA: V=N 3 #ROZE %
A0I0 | 901z= | EE701 10 TH YL OS] 3 FOZ% %
A011 01%= | EEI01 11 [RERVAE N SEE AN 3 4Ok <8
A012 01%= | EEI01 12 [RERVAE N SEE AN 4 FROS %
A013 01%= | EEI01 13 [RERVAE N SEE AN 4 HOE %
A014 01x= | EEI01 14 [ERVAE D SEEAN 4 5ROIE 2z
A235 801z= | EET10 10 [ERVAE D SEEAN FO# 548
A021 N01x= | EEI01 21 [RERVA=EREE N 7 BPROA& %
A016 | 901z= | HE&701 16 [ERVE=SSETlN 1 FEOEE 7
A017 01x= | EEI01 17 LA 22BN 2 O] %
A015 N01x= | 01 15 1175 HEIN 7 #0% %




WENGRTT | REOES | RPDEGR | REVESE | EEEN | BEIR| #FH TR
A002 | 90lz= | E&701 2 ERYAz = AN 1 IO 5
A003 | 901z S0 3 [ERvAz = AN 8 FOotE 7
A227 801z= | EET10 2 PTRE TR )N = OlF <8
A226 801z &710 1 PRI R/ )N O 2z
A238 | 80lzz= | EE710 13 2 AIPAR 62, FEOF 7
A228 | 801%= il 3 FLbE BN S0P 5
A236 | 801zz= | EET710 11 HE [ /)N 606 A0t 7
A218 | 909z= | E&709 21 (00 7
A219 | 909%= | E&T09 22
A220 | 909z= | 709 23 EEOst b
A230 | 801zz= | EET710 5 SFO%, b
A231 801z= | K&710 6 RO b
A232 | 80lzz= | EET710 7 BHO 1 b
A233 | 80lzz= | EET7I10 8 BROT: H
A234 | 801z= | EET710 9 08 i




WENGRTT | REOES | RPDEGR | REVESE | EEEN | BEIR| #FH TR
Al75 | 907#= | E&T07 7 T i H N 1 FO% 5
Al176 | 907#= | E&I07 8 [ERVATEEaETlN 1 RO8 5
A177 | 907#= | E&T07 9 T i H N 1 PO 5
Al178 | 907#= | E&T07 10 T i H N 1 FROFE 5
A179 | 907#= | E&T07 11 T i H N 1 FOH 5
A180 | 907#= | E&T07 12 T i H N 1 FO£ 5
A181 007%= | 707 13 T 1 N 1 EOHE b
A182 | 907#= | E&T07 14 T 1 N 1 SEOMA b
A183 | 907#= | E&T07 15 T 1 N 1 RO 7
Al84 | 907#= | E&T07 16 T 1 N 1 EEYOLH! 7
A185 | 907#= | E&T07 17 T 1 N 1 BRORE 7
Al86 | 907z= | E&T07 18 T 1 N 1 BEOZE 7
A187 | 907#= | E&T07 19 1 N 1 O 7
A188 | 907#= | EET07 20 T 1 N 1 ZEO% 7
A189 | 907#= | E&ET07 21 T 1 N 1 AOME 7
A190 07#= | E&EI07 22 T 3 3B 1 FOZ E28
A191 07#= | E&EI07 23 T 3 3B 1 RO <8
A192 | 907#= | E&T07 24 T ER RN 1 BEOF s
A193 07=z= | E&E707 25 1 17 /N 1 [HO%Y 2z
Al194 | 907z= | E&T07 26 T 1 N 1 0% 7
A195 N07%= | EEI07 27 1 17 /N 1 HOAf <8
A215 | 909%= | E&T09 19 T 1 N 1 07 Ui
A216 9092z 5709 20 T Y 3 BN 1 AROFk %
A196 007z | E&T07 28 [ERyATEEE N 2 = Ofs %
A197 009%= | E&E709 1 7 173 BN 2 HRO= %
A198 | 909%= | E&T09 2 17 B H DN 2 JEORH %
A199 | 909%= | E&T09 3 1 B H N 2 O %
A200 | 909%= | E&T09 4 1 B HE DN 2 FHOZK %




WENGRTT | REOES | RPDEGR | REVESE | EEEN | BEIR| #FH TR
A201 009%= | 709 5 T i H N 2 FROUE 5
A202 909%= | E&E709 6 T 3 3B 2 z:100i7 %
A203 | 909z= | E&709 7 T i H N 2 HOZE 5
A204 | 909z= | 709 8 T i H N 2 ROE 5
A205 009%= | EET09 9 73w HE )N 2 Z0RE 5
A206 | 909%= | 709 10 T i H N 2 HO2 5
A207 | 909z= | E&E709 11 T 1 N 2 FROF 7
A208 | 909z= | 709 12 T 1 N 2 ZOF 7
A209 | 909%= | E&T09 13 T 1 N 2 FROFY 7
A210 | 909z= | E&709 14 T 1 N 2 FRORL 7
A211 009%= | 709 15 T 1 N 2 MROE 7
A212 | 909%= | E&709 16 T 1 N 2 FIOHR 7
A213 | 909%= | E&709 17 1 N 2 T O 7
A214 | 909%= | E&709 18 T 1 N 2 FROTR 7




WENGRTT | REOES | RPDEGR | REVESE | EEEN | BEIR| #FH TR
A022 | 90lz= | E&701 22 TH TR RN 1 2O 5
A023 | 90lz= | E&701 23 TH TR RN 1 EROfE 5
A024 | 90lz= | E&701 24 TH TR RN 1 (0 5
A025 | 90lz= | E&701 25 TH TR RN 1 FROE UE
A026 | 90lz= | E&701 26 TH TR RN 1 FROF 5
A027 | 90lz= | E&701 27 TH TR RN 1 B0 UE
A028 | 90lz= | E&701 28 TH TTHRIEE RN 1 FOH b
A029 | 902#z= | EET02 1 TH TTHRIEE RN 1 O b
A030 | 902z= | EET02 2 TH TTHRIEE RN 1 HOM b
A031 | 902z= | EET702 3 TH TTHRIEE RN 1 KOzE b
A032 002%= | HEE702 4 T T Hi g )N 1 #50%A %
A033 | 902#= | EET02 5 TH TTHRIEE RN 1 L {0)y/g 7
A034 | 902#= | EET02 6 TH TTHRIEE RN 1 FOiE 7
A035 | 902#= | EET02 7 TH TTHRIEE RN 1 0% 2z
A036 | 902#= | EET702 8 T TTHRIEE RN 1 FROZE 7
A037 | 902z= | EET02 9 T TTHRIEE RN 1 L=Y0); 7
A038 | 902#= | EET702 10 T TTHRIEE RN 1 SO 2z
A039 002%= | EE702 11 T 7 A )N 1 FROHE <8
A040 902%= G700 12 T AR /)N 2 FOH %
A04l | 902z= | EET02 13 T TTHRIEE RN 2 0= Ui
A042 | 902z= | EET02 14 T TTHRIEE RN 2 YOHE Ui
A043 | 902#= | EET02 15 T TTHRIEE RN 2 BROS i
A044 002%= | EE702 16 T T A RN 2 RO %
A045 002%= | EE702 17 T T AR RN 2 BROA %
A046 002%= | EE702 18 T T AR RN 2 HOE %
A047 002%= | EE702 19 T T AR RN 2 BOE %
A048 002%= | EE702 20 T T A RN 2 FROFS %
A049 002%= | EE702 21 T AR RN 2 =QL: %




WENGRTT | REOES | RPDEGR | REVESE | EEEN | BEIR| #FH TR
A0S0 | 902#= | EET02 22 TH TR RN 2 HOR 5
A0S1 | 902#z= | HE&702 23 TH TR RN 2 {HOF; 7
A052 | 902#z= | EET702 24 TH TR RN 2 HO$#9 7
A053 | 902#= | EET702 25 TH TR RN 2 FO% 7
A0S4 | 902#z= | EET02 26 TH TR RN 2 FROZE 7
A055 | 902#= | EET02 27 TH TR RN 2 B OB 7
A0S6 | 902#= | EET02 28 TH TTHRIEE RN 2 SO 7
A057 903%= 703 1 T I Al ER /)N 3 FROSH, =
A058 | 903z=z= | EE703 2 TH TTHRIEE RN 3 205 b
A059 | 903zz= | EE703 3 TH TTHRIEE RN 3 FROZE b
A060 | 903z= | EET03 4 TH TTHRIEE RN 3 HEORE b
A061 | 903z= | EE703 5 TH TTHRIEE RN 3 ZOFH b
A062 | 903z= | EET03 6 TH TTHRIEE RN 3 FRO£T] b
A063 | 903zz= | EET03 7 TH TTHRIEE RN 3 BRO# b
AO64 | 903%= | E&703 8 ERYE: RN 3 RO Ui
A065 | 903%= | 703 9 ERYE: RN 3 #ROfe Ui
A066 | 903%= | E&703 10 [(ERVE: = 3ETUN 3 O E/8
A067 | 903%= | E&703 11 T TTHRIEE RN 3 o OFE 2z
A068 | 903%= | E&703 12 T TTHRIEE RN 3 FHORE 7
A069 | 903%= | 703 13 ERYE: RN 3 B0 7
A070 | 903%= | 703 14 T TTHRIEE RN 3 HEOE 2z
A071 003%= | HE&E703 15 T T A )N 3 PROHE <8
A072 003%= | HE&703 16 T T A RN 3 HRO=E 2z
A073 003%= | HE&703 17 T T AR RN 3 204z 2z
A074 | 903%= | E&703 18 T TT AR RN 3 ROE Vil




WENGRTT | REOES | RPDEGR | REVESE | EEEN | BEIR| #FH TR
A082 | 903z= | HEE703 26 (ERVA: EE3EUN 1 FROZE 5
A083 | 903z=z= | HEE703 27 QERVA =S5 AN 1 FROZE 5
AO84 | 903z= | HEE703 28 QERVA =S5 AN 1 FROH 5
A085 | 904z= | EET04 1 QERVA =S5 AN 1 FEOR 5
A0S6 | 904z= | EET04 2 QERVA: S5 AN 1 FROME: 5
A087 | 904zz= | EET04 3 QERVA: S5 AN 1 BRO% 5
A0S8 | 904z=z= | EET04 4 [ERVA: = E3ETUN 1 2208 b
A089 | 904zz= | EET04 5 [ERVA: = E3ETUN 1 HO% b
A090 | 904z= | EET04 6 [ERVA: = E3ETUN 1 BHOZL b
A091 004%= | EET04 7 [ERVA:EEEAN 1 TROET %
A092 004%= | EET04 8 [ERPA- BN 1 #FOHA %
A093 004%= | EET04 9 [ERPA- BN 1 BROFH <8
A094 004%= | EET04 10 [ERPA- BN 1 F O <8
A095 | 904z= | EET04 11 [ERVA: = E3ETUN 1 FROZ 7
A096 004%= | EET04 12 I T BRI B /)N 1 HOZ= <8
A097 | 904zz= | EET04 13 [ERVA: = E3ETUN 1 SROME 7
A098 | 90dz= | EET04 14 [ERVA: = E3ETUN 1 FEOH 7
A099 | 90dz= | EET04 15 [ERYA: =S AN 1 BRO 7
A100 04z= | EE704 16 7 17 HE MR /N 1 PR O 2z
A101 004%= | E&E704 17 [ERVA: = E3ETUN 1 HOZ 7
A102 9042z 5704 18 [RERVA:EEAN 2 #%Oth %
A103 | 90dz= | EET04 19 [ERVA: = E3ETUN 2 BRORE Ui
A104 004zz= | EET04 20 (RERVA:E RN 2 = OfE %
A105 004zz= | EET04 21 (RERVA:E RN 2 FOK %
A106 004z | E&T704 22 [RERYA:IESEN 2 FOF %
A107 04%= | EE704 23 7 17 HE MR /N 2 EROFL <8
A108 004z= | EET04 24 (RERVA: = ESETHN 2 FROFS <8
A109 04z | EE704 25 7 17 HEMEEET /)N 2 BROZ 2z




HEARTT | HENHEL | RPN | PR FEEN | EEVER | (€51
A110 | 904z= | EE704 26 T TLHEIEE R )N 2 ZEOH 2z
A1l | 904z= | EE704 27 T I FE /)N 2 HOE 2z
Al12 | 904z= | EE704 28 T IL eI /)N 2 ZI0% 2z
Al13 | 905%= | HE&705 1 T IL eI /)N 2 SO 2z
All4 | 905%= | E&T05 2 T IL eI /)N 2 0% 2z
A221 | 909%= | E&E709 24 T IL eI /)N 2 HOZ 2z
A224 | 909%= | E&709 27 T T HEIE BN 2 BRO H
A115 905%%= §705 3 [ERYA-EIEEN 3 FROFE %
Al16 | 905%= | E&705 4 T T HEIE BN 3 FROH! H
Al117 | 905%= | E&705 5 T T ER I/ )N 3 FROZY, H
Al18 | 905%= | HE&705 6 T T HEIE BN 3 BROE H
A119 | 905%= | HE&705 7 T T HEIE BN 3 HEORE H
A120 | 905= | E&T05 8 T T HEIE BTN 3 FROE H
AI21 | 905%= | E&705 9 T T HEIE BN 3 HOUE H
A122 905%= | E&705 10 [RERvA: SN 3 O %
A123 905%= | E&705 11 [RERvA: SN 3 FROBE %
Al24 | 905#= | H&705 12 T T HEIE BN 3 2O 2
A125 905%= | E&705 13 ERYA- SN 3 Z0H E28
A126 | 905#= | H&705 14 T T HEIE BN 3 RO%E 2
A127 05%= | K&E7I05 15 [RERVA: E3EAN 3 BEROE <8
A128 905%= | E&705 16 T T FE IR /)N 3 0% E28
A129 | 905#= | H&705 17 T T HEIE B/ N 3 fROSE 2
A130 | 905z= | H&705 18 T T HEIE BN 3 FROE 2
Al131 905%= | H&705 19 [RERVA: = E3EAN 3 O E28
Al132 905%= | E&E705 20 [RERVA: = E3EAN 3 FO0ZE <8
A222 909%= | E&T09 25 T BEIEE /)N 3 5RO %
A223 | 909z= | EE709 26 T T HEIE B/ N 3 BOHE 2
A133 905%= G705 21 ERYA- SN 4 OB 5




SRENGRTE | BEDOES | REPEAR | WmEESE | BEEVN | BEEIR| & (el
Al34 | 905%= | E&T05 22 T I FE /)N 4 ZZ0OF H
A135 | 905%= | E&T05 23 T I FE /)N 4 FROBY H
A136 | 905%= | E&T05 24 T IL eI /)N 4 BROZE H
A137 | 905%= | E&T05 25 T IL eI /)N 4 RO H
A138 | 905%= | E&T05 26 T IL eI /)N 4 FROJE H
A139 | 905%= | E&T05 27 T IL eI /)N 4 FROF 2z
Al40 | 905m= | EET05 28 T T HEIE BN 4 BROE 2
Al41 | 906m= | EE706 1 T T HEIE BN 4 RO 2
Al42 | 906m= | EE706 2 T T HEIE BN 4 BROH 2
Al43 | 906m= | 706 3 T T HEIE BN 4 RO 2
Al44 | 906m= | HE706 4 T T HEIE BN 4 FHOZ: 2
Al45 | 906m= | 706 5 T T HEIE BN 4 L 1103% 2
Al46 | 906m= | 706 6 T T HEIE BTN 4 BZOME 2
Al47 | 906%= 5706 7 L FEIEET /)N 5 BROR% H
Al48 | 906z= | [&706 8 [ERA: SN 5 (00 i
Al49 | 906z= | [&706 9 [ERA: SN 5 HOAR i
A150 | 906z= | [&706 10 T T HEIE BN 5 HOMH i
AIS1 | 906z= | [&706 11 T T HEIE BN 5 E0)E i
A152 | 906z= | [&706 12 T T HEIE BN 5 FOE i
A153 | 906z= | [&706 13 T T HEIE BN 5 HORE i
Al54 | 906z= | [&706 14 T T HEIE BN 5 ROZK 2
A1S5 | 906z= | [&706 15 T T HEIE B/ N 5 BROH: 2
A1S56 | 906z= | [&706 16 T T HEIE BN 5 Z20H] 2
A157 906%= | EET06 17 [RERVA: = E3EAN 5 {03 E28
Al58 9006 2= k5706 18 [ERYAELESETAN 5 FO 2z
A159 906%%= G706 19 T L BEIE /)N 6 BROFX 5
Al60 | 906z= | [&706 20 T TR /)N 6 KOth 5
Al61 906x= | E&ET06 21 T BEIEE /)N 6 FROZE %




WENGmTT | REHES | WEPDIR | WEVEST | SEEEVN || 4% (&%l
Al62 9065z (%706 22 [ERYAElESETN 6 Q| %
Al163 9065z (%706 23 7 T HEMEEE /N 6 MROFx %
Al64 9065z (%706 24 7 T HEMEEE /N 6 PROBE %
Al165 9065z (%706 25 7 T HEMEEE /N 6 FROZR %
Al166 9065z (%706 26 7 T HEMEEE /N 6 EORE %
A167 9065z (%706 27 7 T HEMEEE /N 6 ZOfE %
A168 9065z (%706 28 [ERVA:EEEAN 6 5O%L %
A169 075z k%707 1 [ERVA:EEEAN 6 Oz %
A170 075z k%707 2 [ERVA:EEEAN 6 A0 %
AlT1 075z k%707 3 [ERVA:EEEAN 6 5RO 2L
Al72 075z k%707 4 [ERVA:EEEAN 6 BERO 2L
Al73 075z k%707 5 [ERVA:EEAN 6 O 2L
Al74 075z k%707 6 [ERVA:EEAN 6 JEOHE 2L
A225 909z 709 28 [ERVA:EEEAN 6 N0 2L
A229 | 80lx= | ERTIO 4 [ERVAEEETUN &ROffm 2L




